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This is ugly

Use a finer grid to make it prettier.
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3025

Regular least squares  minimizes  sum squares of vertical distances.
We want to minimize sum of ed(vertical distances).
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0.9899696122

0.8998828689

want to minimize the mess below.
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W a r n i n g ,  s o l u t i o n s  m a y  h a v e  b e e n  l o s t
now we sad.
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Try ed's brother ed.

4.003315493
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W a r n i n g ,   c o m p u t a t i o n  i n t e r r u p t e d
We still sad.  Whazza matta?  We askin wrong question.
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eq := {diff(sumed(bdata, m, b), b) = 0, diff(sumed(bdata, m, b), m) = 0}:

Looks like lotsa critical points.
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maybe look at a picture, get a better idea what's going on.
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Now THAT's what I'm talkin about!


